Converting Between km and m (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 1710 m to km

2. Convert 26.300 m to km

3. Convert 2.560.000 m to km

4. Convert 0,064 km to m

5. Convert 9.759.000 m to km

6. Convert 0,016 km to m

7. Convert 0,0067 km to m

8. Convert 0,03149 km to m

9. Convert 56.000 m to km

10. Convert 0,8235km to m
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Converting Between km and m (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
5y iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1 E -1 2 3 4 -5 6 -7 -8 -9
1. Convert 1710 m to km

10.

1710m +-10+10+10=1,71km
Convert 26.300 m to km

26.300m =+ 10 - 10 = 10 = 26,3 km
Convert 2.560.000 m to km
2.560.000m = 10 - 10 = 10 = 2560 km
Convert 0,064 km to m

0,064km X 10 X 10 X 10 = 64 m
Convert 9.759.000 m to km
9.759.000m = 10 - 10 = 10 = 9759 km
Convert 0,016 km tom

0,016 km X 10 X 10 X 10 = 16 m
Convert 0,0067 km to m

0,0067km X 10 X 10 X 10 = 6,7 m
Convert 0,03149 km to m
0,03149km X 10 X 10 X 10 = 31,49 m
Convert 56.000 m to km

56.000m =10 +-10 =10 = 56 km
Convert 0,8235km to m

0,8235km x 10 X 10 X 10 = 823,5m
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Converting Between km and m (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- = i = = > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 9600 m to km

2. Convert 7260 m to km

3. Convert 0,7971 km tom

4. Convert 0,725 km to m

5. Convert 0,00098 km to m

6. Convert 75.560.000 m to km

7. Convert 630.000 m to km

8. Convert 23.080 m to km

9. Convert 73,1 km to m

10. Convert 78,92 km to m
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Converting Between km and m (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— <4 : i : : —» X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1 E -1 -2 3 4 -5 -6 -7 -8 -9
1. Convert 9600 m to km

10.

9600m + 10 - 10 - 10 = 9,6 km
Convert 7260 m to km

7260m =+ 10 =10 = 10 = 7,26 km
Convert 0,7971 km to m
0,7971km X 10 X 10 X 10 = 797,1 m
Convert 0,725km tom

0,725km X 10 X 10 X 10 = 725m
Convert 0,00098 km to m
0,00098 km X 10 X 10 X 10 = 0,98 m
Convert 75.560.000 m to km
75.560.000m = 10 = 10 = 10 = 75.560 km

. Convert 630.000 m to km

630.000m = 10 - 10 - 10 = 630 km
Convert 23.080 m to km
23.080m =~ 10 =10 = 10 = 23,08 km
Convert 73,1 km tom

73,1km x 10 X 10 X 10 = 73.100 m
Convert 78,92km tom

78,92km X 10 X 10 X 10 = 78.920 m
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Converting Between km and m (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 5,071 km to m

2. Convert 180 m to km

3. Convert 70.500 m to km

4. Convert 0,01743 km to m

5. Convert 9400 m to km

6. Convert 0,00927 km to m

7. Convert 6710 m to km

8. Convert 505.700.000 m to km

9. Convert 6,8 km to m

10. Convert 0,522 km to m
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Converting Between km and m (C) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 5,071 km to m
5,071 km X 10 X 10 X 10 = 5071 m
2. Convert 180 m to km
180m +10+10+10=0,18km
3. Convert 70.500 m to km
70.500m - 10+ 10+ 10 = 70,5km
4. Convert 0,01743 km to m
0,01743km X 10 X 10 X 10 = 17,43 m
5. Convert 9400 m to km
9400m + 10 - 10 - 10 = 9,4km
6. Convert 0,00927 km to m
0,00927km X 10 X 10 X 10 = 9,27 m
7. Convert 6710 m to km
6710 m + 10 =10 +- 10 = 6,71 km
8. Convert 505.700.000 m to km
505.700.000m = 10 = 10 + 10 = 505.700 km
9. Convert 6,8 km to m
6,8km X 10 X 10 X 10 = 6800 m
10. Convert 0,522 km to m
0,522km X 10 X 10 X 10 = 522 m
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Converting Between km and m (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
- = i = = > X
G M k h dai jd ¢ m W n
9876543215_?":-1-2-345-6789
1. Convert 3870 m to km
2. Convert 2.200.000 m to km
3. Convert 751.300.000 m to km
4. Convert 9,4km tom
5. Convert 930.200 m to km
6. Convert 0,1686 km to m
7. Convert 800,6 km to m
8. Convert 0,00055 km to m
9. Convert 96.700.000 m to km
10. Convert 0,082 km to m
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Converting Between km and m (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 3870 m to km
3870m +- 10+ 10+ 10 = 3,87km
2. Convert 2.200.000 m to km
2.200.000m = 10 - 10 = 10 = 2200 km
3. Convert 751.300.000 m to km
751.300.000m = 10 = 10 = 10 = 751.300 km
4. Convert 9,4km to m
9,4km X 10 X 10 X 10 = 9400 m
5. Convert 930.200 m to km
930.200m = 10 =10 =+ 10 = 930,2km
6. Convert 0,1686 km to m
0,1686 km x 10 X 10 X 10 = 168,6 m
7. Convert 800,6 km to m
800,6 km X 10 X 10 X 10 = 800.600 m
8. Convert 0,00055 km to m
0,00055km X 10 X 10 X 10 = 0,55m
9. Convert 96.700.000 m to km
96.700.000m = 10 = 10 = 10 = 96.700 km
10. Convert 0,082 km to m
0,082km X 10 X 10 X 10 = 82 m
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Converting Between km and m (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- = i = = > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 58,83 km to m

2. Convert 7980 m to km

3. Convert 160m to km

4. Convert 5700 m to km

5. Convert 0,0039 km to m

6. Convert 0,0029 km to m

7. Convert 2,183 km tom

8. Convert 0,06179 km to m

9. Convert 394.500 m to km

10. Convert 1.170.000 m to km
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Converting Between km and m (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 58,83 km to m
58,83 km X 10 X 10 X 10 = 58.830 m
2. Convert 7980 m to km
7980m + 10+ 10+ 10 = 7,98 km
3. Convert 160 m to km
160m +-10+10+10=0,16 km
4. Convert 5700 m to km
5700m =~ 10+ 10+ 10 = 5,7km
5. Convert 0,0039 km to m
0,0039km X 10X 10X 10 =39m
6. Convert 0,0029 km to m
0,0029km X 10X 10X 10 =2,9m
7. Convert 2,183 km tom
2,183 km X 10 X 10 X 10 = 2183 m
8. Convert 0,06179 km to m
0,06179km X 10 X 10 X 10 = 61,79 m
9. Convert 394.500 m to km
394.500m = 10 +- 10 = 10 = 394,5km
10. Convert 1.170.000 m to km
1.170.000m = 10 =10+~ 10 = 1170 km
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Converting Between km and m (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 1.860.000 m to km

2. Convert 71,34 km tom

3. Convert 75.860 m to km

4. Convert 8800 m to km

5. Convert 0,0696 km to m

6. Convert 93.000m to km

7. Convert 0,042 km to m

8. Convert 9170 m to km

9. Convert 9,408 km to m

10. Convert 0,083 km to m
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Converting Between km and m (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 1.860.000 m to km
1.860.000m = 10 = 10 - 10 = 1860 km
2. Convert 71,34 km tom
71,34 km X 10 X 10 X 10 = 71.340 m
3. Convert 75.860 m to km
75.860m =~ 10 - 10 =10 = 75,86 km
4. Convert 8800 m to km
8800m +10+10+10 = 8,8km
5. Convert 0,0696 km to m
0,0696 km X 10 X 10 X 10 = 69,6 m
6. Convert 93.000 m to km
93.000m - 10 - 10 - 10 =93 km
7. Convert 0,042 km to m
0,042km X 10 X 10 X 10 = 42 m
8. Convert 9170 m to km
9170m =10+ 10+ 10 = 9,17 km
9. Convert 9,408 km to m
9,408 km X 10 X 10 X 10 = 9408 m
10. Convert 0,083 km to m
0,083 km X 10 X 10 X 10 = 83 m
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Converting Between km and m (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

~ < i T ' ' > X
G M k h dai jd ¢ m W n
9876543215_?":-1-2-345-6789

1. Convert 796,7 km to m

2. Convert 1.400.000 m to km

3. Convert 4,9 km to m

4. Convert 508.800 m to km

5. Convert 913.400.000 m to km

6. Convert 0,00642 km to m

7. Convert 515,3km tom

8. Convert 3600 m to km

9. Convert 3,931 km tom

10.

Convert 3.690.000 m to km
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Converting Between km and m (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

B_a_s_e
2] Q : E — o e
s iy S 5 81 13 £ 2 3 z
"Bh S % = <! 1w 3 8 £ =
-— < : — : : —» X
G M k h da. :d ¢ m 3 n
9 8 7 6 5 4 3 2 1 E -1 2 3 4 -5 -6 -7 -8 9
1. Convert 796,7 km to m

10.

796,7km X 10 X 10 X 10 = 796.700 m
Convert 1.400.000 m to km
1.400.000m = 10 = 10 = 10 = 1400 km
Convert 4,9 km to m

4,9km X 10 X 10 X 10 = 4900 m
Convert 508.800 m to km
508.800m =+ 10 = 10 = 10 = 508,8 km
Convert 913.400.000 m to km
913.400.000m = 10 =10 = 10 = 913.400 km
Convert 0,00642 km to m
0,00642km X 10 X 10 X 10 = 6,42 m
Convert 515,3km tom

515,3km X 10 X 10 X 10 = 515.300 m

. Convert 3600 m to km

3600m =10 =10+~ 10 = 3,6 km
Convert 3,931 km tom
3,931 km X 10 X 10 X 10 = 3931 m

Convert 3.690.000 m to km
3.690.000m =10 =10 +10 = 3690 km
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Converting Between km and m (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
c:s o . o
5 & s 5 g i3 EE 3 2
2 2 T 2 81 18 § E = =
— < : T : : > X
G M k h da. rd ¢ m M n
9 8 7 6 5 4 3 2 1:0i-1 2 3 -4 -5 -6 7 -8 -9
1. Convert 0,00887 km to m
2. Convert 397.600.000 m to km
3. Convert 18,8 km to m
4. Convert 94.800 m to km
5. Convert 996.000 m to km

10.

Convert 465,3km tom

Convert 11,5km tom

Convert 65.700 m to km

Convert 6,98 km to m

Convert 89.700.000 m to km
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Converting Between km and m (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 0,00887 km to m
0,00887km X 10 X 10 X 10 = 8,87 m
2. Convert 397.600.000 m to km
397.600.000m = 10 = 10 = 10 = 397.600 km
3. Convert 18,8 km to m
18,8 km X 10 X 10 X 10 = 18.800 m
4. Convert 94.800 m to km
94.800m + 10 - 10 - 10 = 94,8 km
5. Convert 996.000 m to km
996.000m = 10 = 10 = 10 = 996 km
6. Convert 465,3km tom
465,3km X 10 X 10 X 10 = 465.300 m
7. Convert 11,5km to m
11,5km X 10 X 10 X 10 = 11.500 m
8. Convert 65.700 m to km
65.700m =+ 10 =10 - 10 = 65,7km
9. Convert 6,98 km to m
6,98 km X 10 X 10 X 10 = 6980 m
10. Convert 89.700.000 m to km
89.700.000m = 10 = 10 = 10 = 89.700 km
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Converting Between km and m (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
- = i = = > X
G M k h dai jd ¢ m W n
9876543215_?":-1-2-345-6789
1. Convert 0,03619km to m
2. Convert 82,97 km tom
3. Convert 0,0534km to m
4. Convert 37.900.000 m to km
5. Convert 6100 m to km
6. Convert 1.230.000 m to km
7. Convert 5.130.000 m to km
8. Convert 0,00023 km to m
9. Convert 28.600 m to km
10. Convert 0,00071 km to m
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Converting Between km and m (I) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 0,03619km to m
0,03619km X 10 X 10 X 10 = 36,19 m
2. Convert 82,97 km tom
82,97km X 10 X 10 X 10 = 82.970 m
3. Convert 0,0534km to m
0,0534km X 10 X 10 X 10 = 53,4m
4. Convert 37.900.000 m to km
37.900.000m = 10 = 10 = 10 = 37.900 km
5. Convert 6100 m to km
6100m +-10+10+10=6,1km
6. Convert 1.230.000 m to km
1.230.000m = 10 =10 = 10 = 1230km
7. Convert 5.130.000 m to km
5.130.000m = 10 =10 = 10 = 5130 km
8. Convert 0,00023 km to m
0,00023km X 10 X 10 X 10 = 0,23 m
9. Convert 28.600 m to km
28.600m +~ 10 =10 + 10 = 28,6 km
10. Convert 0,00071 km to m
0,00071 km X 10 X 10 X 10 = 0,71 m
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Converting Between km and m (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

~ < i T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?":-1-2-345-6789

1. Convert 981.800 m to km

2. Convert 97.790.000 m to km

3. Convert 7,891 km to m

4. Convert 20.200 m to km

5. Convert 0,00019 km to m

6. Convert 0,95 km to m

7. Convert 0,088 km to m

8. Convert 25,8 km to m

9. Convert 5.605.000 m to km

10. Convert 2290 m to km
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Converting Between km and m (J) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 981.800 m to km
981.800m =+ 10 - 10 - 10 = 981,8 km
2. Convert 97.790.000 m to km
97.790.000m = 10 - 10 = 10 = 97.790 km
3. Convert 7,891 km to m
7,891km X 10 X 10 X 10 = 7891 m
4. Convert 20.200 m to km
20.200m <+ 10 = 10 = 10 = 20,2km
5. Convert 0,00019 km to m
0,00019km X 10 X 10 X 10 = 0,19 m
6. Convert 0,95 km to m
0,95km X 10 X 10 X 10 = 950 m
7. Convert 0,088 km to m
0,088 km X 10 X 10 X 10 = 88 m
8. Convert 25,8 km to m
25,8km X 10 X 10 X 10 = 25.800 m
9. Convert 5.605.000 m to km
5.605.000m = 10 = 10 = 10 = 5605 km

10. Convert 2290 m to km
2290m - 10=10=10 = 2,29km
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